Sample Question Paper

Economics — 576

37TATET - 576
Class —XI1 Session 2025-2026

Time Allowed : 3 Hrs. M.M. - 80

AT fAger:

(i) 92T I & & WET §; 99T T (afSe 3r2emes) qur T of (FASe 3reemeT)

(ii) Tefr 9eaT 3Afrary §

(iii) 9 A & forw AUIRT 319 39 aes e v §

(iv) TR HEAT 1 & 10 U1 18 & 27 TEIS6 YA g1 Tcdsh U Teh 3eh &l gl Fel
gl & 3R AR <

(v) 99T H&ar 11 & 12 U1 28 & 29 A 7 3907 9 €, [T Icdeh 92 3 37 &r
& JUT IS & 39X HIT: 30 2Tl ¥ 310 78T glar anfu|

(vi) 9ReT F&AT 13 & 15 o7 30 & 32 o 3T 9T ¢, e Icdeh 9T 4 37 &7 g
Ucdeh T 30X ATHCIA: 60 Al & 3i8d gl gl d1fgy|

(vii) 99T FEAT 16 & 17 dUT 33 & 34 &F 330T A §, TAH TAF I 6 3 T gl
Ucdeh T 3aX ATHIA: 130 Asal F 318 gt glar arfgul

(viii) & TR H HARF F& 3Tl & IR FAH { el Teh YT gl el §

(ix) FEaTeas 3R Ffheer geal X ersg AT o] 787 @l #

General Instructions:

Q) The question paper has two parts; In Part A (Micro Economics) and Part B (Macro
Economics)

(i) All questions are compulsory

(iii)  Marks prescribed for each question are given against it

(iv)  Question numbers 1 to 10 and 18 to 27 are objective questions. Each question carries
one mark. Answer these questions as per instructions.

(V) Question numbers 11 to 12 and 28 to 29 are very short answer type questions in which
each question carries 3 marks and the answer to each should generally not exceed 30
words.

(vi)  Question numbers 13 to 15 and 30 to 32 are short answer questions in which each
question carries 4 marks. Answers to each should normally not exceed 60 words.

(vii)  Question numbers 16 to 17 and 33 to 34 are long answer questions in which each
question carries 6 marks. The answer to each should generally not exceed 130 words.

(viii) Internal relaxation is available in some questions. You have to attempt only one of
these questions

(ix)  Word limit does not apply to questions containing numerical and graphical




9T T
(Part A)

ged 1 A AcUid &I 38 17 8 Tl ST g

(A) TS 3TAFT  (B) FHTSE IARMEA (C) HeT forz=or (D) HeT Hlolel

The Price Theory is known as :

(A)  Microeconomics (B) Macroeconomics (C) Price control (D) Price Equilibrium

T 2 qut gfafaar SR # W T AT 9% Qe -
(A) + VE (B) - VE (C) OX 3787 & TAGITAR (D) OY 3787 & FHATAR

In Perfect Competition market firm demand curve is-
(A) + VE (B)-VE  (C) Parallel to OX Axis (D) Parallel to OY Axis

T 3 379TT JIRTd § dread g

(A) dhfeTeh 3UANT &I AT (B) dRcIfdeh el (C) el oETd (D) S8 & IS gl
Opportunity cost is meant by:-
(A) cost of alternative use (B) Actual cost (C) total cost (D) None of these

9ReT 4 quT wfaeqel & e i Ho S BUfT 7 gl § S
(A) MC= = (B) MC=TR (C) MC=MR (D) AC=AR

In perfect competition a firm is in a state of equilibrium when:
(A) MC=Zero (B)MC=TR (C)MC=MR (D)AC=AR

WA 5 HEI HF H UL
(A) MC=TC-TVC (B) MC=TFC+TVC
© MC =TCn+1-TCn (D) TFC=AFC/Q
Select the correct formula:
(A) MC=TC-TVC (B) MC=TFC+TVC
© MC=TCn+1-TCn (D) TFC=AFCI/Q

UeT 6 ST MP = &l

(A) TP=2w& (B)TP=+ive (C)TP=-ive (D) TP= 3if&d#

When MP is Zero:
(A) TP=Zero (B)TP=+ive (C)TP=-ive (D) TP= maximum

YR 7 ARG &I & oA A o AT ST § (FET dsh / 3Lt ash)

AR curve is also known as .(Demand curve/ Supply curve)




T 8 FHYA Hod WHR AN Holdl Hed & uRT forar Sar § |
(FR/FR)

Support price is determined by the government..... the equilibrium price.
(below/above)

weet 9 Yt 9 I Golled HHETRIAT 82
What is the slope of the Supply curve?

farfaf@a sy #r ud- 3fAFTT (A) 3R FROT (R)| = QU 917 T Ahedt A &
Th e |

(A) 3fHFYT (A) IR FROT (R) Al T g 3R FROT (R) 3IfHAFUT (A) T T@r carean
€

(B) 31fAFRUA (A) 3R FROT (R) &l T & AR FROT (R) ATFRUT (A) Fr Fer caren
el &

(C) 3IfAFUT (A) T §, oifhed SRUT (R) 3T ¢l

(D) ATAFYAT (A) 3T g, Afhed HROT (R) T ¢

Read the following statement- Assertion (A) and Reason (R) . Choose one of the correct
alternatives given below .

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)

(B)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A)

(C)  Assertion (A) is true , but Reason (R) is false.

(D)  Assertion (A) is false , but Reason (R) is true.

gl 10 ARYA (A) : Irad R &9Td as U R T 8idT ¢l
HROT (R) : AFC=TFC/Q

Assertion (A) : The average fixed cost curve is U shaped.
Reason (R) :AFC=TFC/Q 1x10=10

geeT 11 3T FHEAT & HROT FAT 87
What are causes of economics problems ? 3

e 12 3eTEldr deh et fAAWar3it 1 guiea
Describe the characteristics of indifference curves.



(OR)

3T dsh I HGRIAT ¥ 3UHIFAT HcJolel T AT HITST|

Explain consumer’s equilibrium with the help of Indifference curves approach.

U1 13. R & ged Uidhel I difciehl Td ATH HT TEIAT § FHASTSU|
Explain the diminishing returns of factors with the help of table and graph.

gesT 14. 3Hd @RTd 3R WA 1T & T GG T95C HY|
Explain the relationship between average cost and marginal cost.

(OR)

(Output) | (TC) (AFC) (AVC)

(MC)

36 - -

18

14

N w N = o
1
1
1

24

SIS dTfelehT &l QU |

Complete the above table.

%7 15. 0T Hed 3R FAYH Hod # R/ T A
Explain the difference between control price and support price.

(OR)

A NTAT fohdll a&q 1 A 3R 3 s Aeafaf@a ar aeeon garr few o §:

Qd=200 - P 3Rk Qs=50 + 2P
Hlolel hAd 3N AET AT A

Suppose the demand and supply curves of a commaodity is given by the following two

equations :
Qd=200-P and Qs=50 + 2P

Find the equilibrium price and quantity




T 16. HT &1 HIAT ol HGel HT Fel g A T qoieT Y|
Describe total expenditure method of measuring price elasticity of demand.

(OR)

Folc Y@T FIT 82 Soic @M H [@IHE & RO 6T qrEam |
What is Budget Line ? Explain the causes of shift in Budget Line . 6

ReT 17. 3cUTeeh Holel ¥ AT AT g2 WA Ay gaRT 3curegesh Helel T carea
o]

What is meant by producer equilibrium? Explain producer equilibrium by marginal method.
(OR)

qut gfaeqef SomR &1 7Y T fERIYAT §HSsT
Explain the meaning and characteristics of a perfectly competitive market. 6

HTIT &Y
(Part B)

a1 18. F=Ifalild H & Hia-dr Ueh FASC TUROT g7
(A) ISR &1 Agurd (B) ART &I HHAT o
(C) forar =T faAgwia (D) & T HIHAT

Which of the following is a macro concept?
(A) Theory of employment (B) Price elasticity of demand
(C) Theory of rent (D) Price of goods

927 19. If¢ MPC = 0.75 ar IUTeh T AT T g ?

(A) 5 (B) 2.5 ©) 4 (D) 35
If MPC=0.75 then what will be the value of the multiplier ?
(A) 5 (B) 2.5 ©) 4 (D) 35

U1 20. TRA HT el T b PieT AT 87
(A) RBI (B) SBI (C) PNB (D) HDFC

Which one is Central bank of India ?
(A) RBI (B) SBI (C) PNB (D) HDFC
9esT 21. Qg VT 1 gHEAT fpg [T 7 95 Sy &2

(A) 3T fafer (B) 3cure fafer (C) =g fafer (D) 3ueFa Hefr
In which method the problem of double counting is found ?

(A) Income method (B) Product Method
(C) Expenditure method (D) All of the above




et 22. fadl A e & giar 2

(A) 1 SeT$ (B) 1 3dar (C)1 Fall (D) $AH ¥ Flg odeia
When does the financial year begin?
(A)  1July (B) 1 April (C) 1January (D) None of these

R 23. AT HJolel # il W AS AT &2

A) T HAG (B) 3787 AC (C) 9air &R (D) 3WRIFT T
Which item is included in the balance of payments?
(A) Visible items (B) Invisible items (C) Capital transfer (D) All of the above

geT 24. IR Teh ............ W gl (IT&T/3TIcTeT)

Income tax is a............ tax. (Direct/ Indirect)
9ReT 25. Fal qfcl T HhdH el §7 gl (M3/M1)
The most liquid form of money supply is . (Ms/My)

9ReT 26. WU 3R 3CTAGRT @ UIecl 3T &I T T o7
Income received from property and entrepreneurship is called.

fArIfaf@d Y &t 9¢- 3fAFTA (A) 3R FROT (R)| A QU 10 Tgr QAhedt & &
T e |

(A) HTAFUT (A) 3 FROT (R) Al T & 3 FROT (R) HATAFAT (A) hr Ggr aredn
€

(B) 3fAFHAUT (A) 3R FROT (R) &leAl TcT & 3 FROT (R) ATAFUA (A) T T arem
el &

(C) 3ifFFY (A) T &, aifehed HRUT (R) AT gl

(D) HTHFUA (A) 3T , AfcheT FROT (R) TH ¢

Read the following statement- Assertion (A) and Reason (R) . Choose one of the correct
alternatives given below .

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A)
(B)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A)
(C)  Assertion (A) is true , but Reason (R) is false.
(D)  Assertion (A) is false , but Reason (R) is true.



gt 27. ATHFUA (A): eurafer # APC > MPC.

HROT (R): 519 3 e 8 Al YA e AT BIe |

Assertion (A): In the short run APC > MPC.

Reason (R): Consumption is not zero when income is zero. 1x10=10
TR 28. SIR HcJolel 3N ATl Holel & &l IR TS |

Explain the difference between balance of trade and balance of payments. 3
T2t 29. THYT AT & AURST H qrear |

Explain the determinants of aggregate demand.

(OR)

AT 39T ggfy 3R WATT Fad Jgia A1 RIfST|

Find marginal propensity to consume and marginal propensity to save.
3T (Income) 0 50 100 150 200
3987191 (Consumptions) 20 60 100 120 140

3

g2+ 30. S AT 3R FARE feameT & g HR TISC HL|

Explain the difference between microeconomics and macroeconomics. 4

9ReT 31. fAQer 90Teh & TRl &A1 AT 82 LT TR T TfhdT T HAATST, Ig Al
gU f& fader & aRad= (A1) 4000 F3 & TAUT AT 3USNT ggia (MPC) 0.5 g

What do you mean by Investment Multiplier? Explain the process of Investment Multiplier
assuming change in Investment (AI) is 4000 crores and marginal propensity to consume

(MPC) is 0.5.



(OR)

3g9eT gHEOT C=200 + 0.80Y & &7 & fer aram
AFIfaf@d i T HL
a) MPS b) TaTIA 3UHTIT

¢) I0Teh d) STd Bl

Consumption equation is given as C =200 + 0.80Y
Calculate the followings
a) MPS b) Autonomous Consumption
c) Multiplier d) Saving Function

g2eT 32. AXHRT doic 3R 38% 3cedT & 3T 7 A & ?

What do you mean by government budget and its objectives ?

(OR)

TcIaT 3R TS AU & ST A T A
Explain the difference between direct and indirect taxes.

g2aT 33. heald seh & HAT I ATEAT HITAT|
Explain the functions of Central Bank.

(OR)

“HAT 98 § S Aol & & H| T HifSw
“Money is that which acts as Money” Explain.

UaT 34. IS 3T I AT T <7 Al 1 aofa fifaw|
Describe the Expenditure method of measuring national income.



(OR)

& IS ATHRT F ITUR W =Tl ATAAY &1 Hed A HIioiC|

ETAICT fazor LURNCRIEREIY)
. SISIES H‘\("q I 3cUlce ol J'It\("q 12000

. fager ¥ ey FRE 3 1000

i, JCH TR T 50

iv. Feagdt sgseT 3500

V. SRR @ e 5000

vi. TRy GST T 3THET 250

Based on the given information, calculate the value of Operating Surplus.

Serial number | Description Amount (crore rupees)
i Value of output at market price 12000

I Net factor income from abroad 1000

ii Net indirect tax 50

iv. Intermediate Consumption 3500

V. Compensation of Employees 5000

Vi. Consumption of fixed capital 250




